A piece of n-type silicon is doped with Np = 2x10"%cm™,

What is the probability of finding a hole in the valence band?
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a.
b. What is the probability of finding an electron in the valence band?
¢. What is the probability of finding an electron 0.1meV above the conduction band?
d. What is the probability of finding a hole in the conduction band?
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Use the band diagram for silicon for the following parts of this problem.
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Is this n-type or p-type maternial? Why?

What is the majority carrier and the majority carrier concentration?
What is the minority carrier and the minority carrier concentration?
What is the resistivity of this material?

apop

ﬁ} n--%rzga ém Leuge %&L ‘szm' }é”%’f i3 cf@gg i #\g Conde e o B

e ( above g{;

Jﬁa) Mlajerity taceie s = gleetrens {fﬁ-”f‘;g,e gt ia !>

(ee-£2) {eT
n: noe

%

AR L CM‘a*’)/@,azﬂ v
¥t - ([9 Cm;) e e = [_' 95772{@!4‘&“"3

C) M:‘ﬁafs'%f Eqeliter é&:[’tﬂf

- ﬁ":ﬁ - M“ T8 e 3
F no Eaaﬁ??xmmam‘s ’ 3%’%;@ £wm

6??) Pegisdiv {'mly
( /
¢

i(“wﬁ R D (1.¢o2 xf’ﬂ"’C){(U;r,mz/ys)(;, o8 777 lo’éﬁm”5> +

4 (&‘éé C"“/vs)(%wstf ;g;@ﬁcm—;ﬁ
2 D400 8o

?f‘,&%ﬁ S 09720 Som



A silicon cube (2mm on each side) has been doped with Np = 1x10"%cm™ and N, = 5x10"%cm™.

Is this n-type or p-type material? Why?

What is the majority carrier and the majority carrier concentration?

What is the minority carrier and the minority carrier concentration?

Now, assume that a voltage of 5V is placed across two opposing sides if this material. What are
the values of the hole current and the electron current?

Instead of a voltage across this material, this silicon cube is exposed to light and undergoes
photogeneration. Determine the diffusion length of the minority carrier in this material, assuming
low-level injection.
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A smcon p-n junction with a cross sectional area of 10 cm? has been doped on the p-type side with N, =
10""cm™ and on the n-type side with Np = 3x10"cm®

Determine the built-in potential.

Determine the equilibrium width of the depletion region.

Determine the maximum electric field in the p-n junction in equ1llbrlum
Determine the zero-bias junction capacitance.

Determine the junction capacitance if the junction is reverse biased with 3V.
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For Parts f-h, a forward bias of 0.1V has been applied to the p-n junction diode.

f  Determine the width of the depletion region under bias.
g. Determine the maximum electric field under bias.
h. Determine the total current that flows under bias.
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A silicon p-n Junction has been doped on the p-type side with Ny = 10"cm™ and on the n-type side with
Np = 10"°cm™. Draw the following to scale. Be sure to label all important points and intercepts {exact

values are not needed, but expressions are required).

Band diagram in equilibrium.

a

b. Charge density in equilibrium verses position along the p-n junction.

¢. Electric field in equilibrium verses position along the p-n junction.

d. Repeat Paris a-c for a forward biased p-n junction. Emphasize the differences from the
equilibrium conditions.

e. Repeat Parts a-c for a reverse biased p-n junction. Emphasize the differences from the

equilibrium conditions.
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